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2P 4+ 1 =2(510510n + 467897) + 1 = 10210201 + 935794 + 1 = 1021020n + 935795
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2P + 1 = 2(510510n + 467953) + 1 = 10210201 4 935906 + 1 = 10210201 + 935907
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2P + 1 =2(510510n + 467989) + 1 = 10210201 + 935978 + 1 = 10210201 + 935979

0000010210200 20 2003,5,7,11,13,17000000 10000000

935979 =3 x 11 x 113 x 251 x 1

oooo
2P + 1 = 33(30940n + 28363)

0O0o00doO0ooOOo33000oo00o0oobodbooooU0ooooooobDoobDoDOobooooooo
goog

Q=4680010000
P = 510510n + 468001

2P 4+ 1 =2(510510n + 468001) + 1 = 10210201 + 936002 + 1 = 10210201 + 936003

0000010210200 20 2003,5,7,11,13,17000000 10000000

936003 = 3 x 17 x 18353 x 1

oooo
2P + 1 = 51(20020n + 18353)

o0bo0obO0oooslbobooboboob0oobOboobob0oo0bo0oboobobDUooDbOoboDbOoo
good

Q =4680070000
P = 510510n + 468007
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P = 5105100 + 468019
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P = 510510n + 468031

2P + 1 =2(510510n + 468031) + 1 = 1021020n + 936062 + 1 = 1021020n + 936063
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P = 510510n + 468037

2P + 1 =2(510510n + 468037) + 1 = 10210201 + 936074 + 1 = 10210201 + 936075
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Q=4680430000
P = 5105100 + 468043

2P + 1 =2(510510n + 468043) + 1 = 10210201 + 936086 + 1 = 10210201 + 936087
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P = 510510n + 468047
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Q=4680490000
P = 5105100 + 468049
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Q=4680530000
P = 5105100 + 468053
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0000 10210200000000000000
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Q=4680710000
P = 510510n + 468071

2P + 1 =2(510510n + 468071) + 1 = 10210201 + 936142 + 1 = 10210201 + 936143

0000010210200 20 2003,5,7,11,13,17000000 10000000
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Q=4680730000
P = 510510n + 468073

2P + 1 =2(510510n + 468073) + 1 = 10210201 + 936146 + 1 = 10210201 + 936147
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oooo
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P = 5105100 + 468079

2P 4+ 1 = 2(510510n + 468079) 4+ 1 = 10210201 4 936158 + 1 = 1021020n + 936159
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2P + 1 = 2(510510n + 468089) + 1 = 10210201 + 936178 + 1 = 10210201 + 936179
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936179 = 936179 x 1
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2P + 1 = 510510m + 425669
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Q=4681030000
P = 510510n + 468103

2P + 1 =2(510510n + 468103) + 1 = 1021020n + 936206 + 1 = 10210201 + 936207
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Q=4681070000
P = 510510n + 468107

2P + 1 =2(510510n + 468107) + 1 = 1021020n + 936214 + 1 = 10210201 + 936215
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936215 =5 x 7 x 23 x 1163 x 1
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Q=4681090000
P = 5105100 + 468109

2P 4+ 1 =2(510510n + 468109) + 1 = 10210201 + 936218 + 1 = 10210201 + 936219
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P =510510n + 468121
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Q=4681330000
P = 510510n + 468133

2P + 1 =2(510510n + 468133) + 1 = 1021020n + 936266 + 1 = 10210201 + 936267
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P = 510510n + 468137

2P + 1 =2(510510n + 468137) + 1 = 1021020n + 936274 + 1 = 10210201 + 936275
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oooo
2P + 1 = 3(340340n + 312101)
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0000010210200 20 2003,5,7,11,13,17000000 10000000

941255 =5 X 7 x 26893 x 1
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2P + 1 = 35(29172n + 26893)

oooooooo3boooobooooobobooobooboobooboboooobOoobOoo
good

Q=4706290000
P = 510510n + 470629

2P 4+ 1 = 2(510510n + 470629) + 1 = 10210201 4 941258 + 1 = 1021020n + 941259
0000010210200 20 2003,5,7,11,13,17000000 10000000

941259 =3 x 11 x 11 x 2593 x 1

oooo
2P + 1 = 33(30940n + 28523)

oooooooos3boooooooooooooobooooboooooOoboOooooboOoooDoobOn
oooo

Q=4706330000
P = 510510n + 470633

2P + 1 = 2(510510n + 470633) 4+ 1 = 10210201 4 941266 + 1 = 10210201 + 941267
0000010210200 20 2003,5,7,11,13,17000000 1000000
941267 = 941267 x 1
0000 10210200000000000000
2P + 1 = 510510m + 430757

gboboobogobogbooboobboobbooobuoooboon

Q=470641 0000
P = 510510n + 470641

2P 4+ 1 =2(510510n + 470641) + 1 = 10210201 + 941282 + 1 = 10210201 + 941283

0000010210200 20 2003,5,7,11,13,17000000 10000000

941283 =3 X 3 X 7 x 67 x 223 x 1

oooo
2P + 1 = 21(48620n + 44823)

goooooboOo21000b0000ob0boobooobo0oo0ooDOobDOooDObDOoboboboOoobo
good
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Q=470647 0000
P = 510510n + 470647

2P 4+ 1 =2(510510n + 470647) + 1 = 1021020n + 941294 + 1 = 10210201 + 941295

0000010210200 20 2003,5,7,11,13,17000000 10000000

941295 =3 x 5 x 62753 x 1

oooo
2P + 1 = 15(68068n + 62753)

goooooooioooobooooooboooboooboobooboboooobOobobOoo
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Q=4706510000
P = 510510n + 470651

2P 4+ 1 =2(510510n + 470651) + 1 = 10210201 + 941302 + 1 = 10210201 + 941303

0000010210200 20 2003,5,7,11,13,17000000 10000000

941303 =11 x 83 x 1031 x 1

oooo
2P + 1 = 11(92820n + 85573)

gboobOoobOlnoooboboooO0oobOboOooObooo0bOo0oboobUobDUoOooDbOobobOoo
good

Q=470653 0000
P = 5105100 + 470653

2P + 1 =2(510510n + 470653) + 1 = 1021020n + 941306 + 1 = 1021020n + 941307

0000010210200 20 2003,5,7,11,13,17000000 10000000

941307 =3 x 17 x 18457 x 1

oooo
2P + 1 = 51(20020n + 18457)

gboooooooslbobooobooooobobooobooboobooboboooobOoobOoon
gogo

Q=4706630000
P = 510510n + 470663

2P 4+ 1 =2(510510n + 470663) + 1 = 10210201 + 941326 + 1 = 1021020n + 941327
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941327 = 137 x 6871 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 430817

goboobooobooboboobboobbooboooboon

Q=470669 0000
P = 510510n + 470669

2P + 1 = 2(510510n + 470669) 4 1 = 10210201 + 941338 + 1 = 10210201 + 941339
0000010210200 20 2003,5,7,11,13,17000000 10000000

941339 = 7 x 7 x 19211 x 1

oooOo
2P + 1 = 7(145860n + 134477)

gOoooooogvyooooO0oOoO0oOOoU0OoOoO0DOOU0DOOo0ODOOo0ODOOUODOOoOoDOOUODOoOOd
goo

Q=4706710000
P = 5105100 + 470671

2P + 1 = 2(510510n + 470671) 4+ 1 = 10210201 4 941342 + 1 = 10210201 + 941343
0000010210200 20 2003,5,7,11,13,17000000 10000000

941343 =3 x 13 x 24137 x 1

oooo
2P + 1 = 39(26180n + 24137)

ooooooboOo3ooooooob0obooooobooooDoobDOoobDOobDobooboOooo
good

Q=4706770000
P = 510510n + 470677

2P + 1 =2(510510n + 470677) + 1 = 1021020n + 941354 + 1 = 10210201 + 941355

0000010210200 20 2003,5,7,11,13,17000000 10000000

941355 =3 x 3 x3 x5 x19x 367 x1

oooo
2P + 1 = 15(68068n + 62757)

290



obogoooooioooobooooooboboooboobo0obooboboooobOoobOoo
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Q=4706810000
P = 510510n + 470681

2P + 1 = 2(510510n + 470681) 4 1 = 10210201 + 941362 + 1 = 10210201 + 941363
0000010210200 20 2003,5,7,11,13,17000000 1000000

941363 = 47 x 20029 x 1

o000 102102000000000000000

2P +1 = 510510m + 430853

gbooboobooobooboboobboobboooboooboon

Q=4706830000
P = 510510n + 470683

2P + 1 =2(510510n + 470683) + 1 = 10210201 + 941366 + 1 = 10210201 + 941367

0000010210200 20 2003,5,7,11,13,17000000 10000000

941367 =3 x 7 x 23 x 1949 x 1

oooo
2P + 1 = 21(48620n + 44827)

go0odoOoboOo210000000b0b0obooU0ooO0oo0oDOOobDUo0oDOobDOoboOoboOooog
goog

Q=470689 0000
P = 510510n + 470689

2P 4+ 1 =2(510510n + 470689) + 1 = 1021020n + 941378 + 1 = 10210201 + 941379

0000010210200 20 2003,5,7,11,13,17000000 10000000

941379 = 3 x 167 x 1879 x 1

oooo
2P + 1 = 3(340340n + 313793)
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Q=470693000 0
P = 510510n + 470693

2P 4+ 1 =2(510510n + 470693) + 1 = 10210201 + 941386 + 1 = 1021020n + 941387
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941387 = 547 x 1721 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 430877

goboobooobooboboobboobbooboooboon

Q=470699 0000
P = 5105100 + 470699

2P + 1 = 2(510510n + 470699) 4 1 = 10210201 + 941398 + 1 = 10210201 + 941399
0000010210200 20 2003,5,7,11,13,17000000 1000000

941399 = 43 x 21893 x 1

o000 102102000000000000000

2P 4+ 1 = 510510m + 430889

gboobgobogobooboboobboobbooobooooboon

Q=4707070000
P = 510510n + 470707

2P + 1 = 2(510510n + 470707) 4+ 1 = 10210201 4 941414 + 1 = 10210200 + 941415
0000010210200 20 2003,5,7,11,13,17000000 10000000

941415 =3 x 5 x 62761 x 1

oooO
2P + 1 = 15(68068n + 62761)

goooooboOolbhoobooooobOobooooUooooooDobDOooDOobDOobobooboOooo
good

Q=4707110000
P = 510510n + 470711

2P + 1 =2(510510n + 470711) + 1 = 1021020n + 941422 + 1 = 1021020n + 941423

0000010210200 20 2003,5,7,11,13,17000000 10000000

941423 =7 x 134489 x 1

oooo
2P + 1 = 7(145860n + 134489)

292



goooooogvyoUooOOoO0oOoU0OOoU0OO0DOOU0DOOoU0ODOU0ODOOUODOODOOUODOO
goo

Q=4707190000
P = 510510n + 470719

2P + 1 =2(510510n + 470719) + 1 = 1021020n + 941438 + 1 = 1021020n + 941439

0000010210200 20 2003,5,7,11,13,17000000 10000000

941439 =3 x 31 x 53 x 191 x 1

good
2P + 1 = 3(340340n + 313813)

o00ob0ooO0oo030b00b0ooooooboobDooDobobob0obODobDobOoobOobDOobDOon
goo

Q=4707310000
P = 510510n + 470731

2P 4+ 1 =2(510510n + 470731) + 1 = 10210201 + 941462 + 1 = 10210201 + 941463

0000010210200 20 2003,5,7,11,13,17000000 10000000

941463 =3 x 3 x3 x3 xH9x 197 x 1

0ooo
2P + 1 = 3(340340n + 313821)

gooooooOo3oUobooooooobo0oOoU0bOoUbOOoUobDOoUobbOUbDOoobDboUODoOoO
goo

Q=4707370000
P = 510510n + 470737

2P + 1 = 2(510510n + 470737) 4+ 1 = 10210201 + 941474 + 1 = 10210200 + 941475
0000010210200 20 2003,5,7,11,13,17000000 10000000

941475 =3 x 5 x5 x 12563 x 1

oooo
2P + 1 = 15(68068n + 62765)

obooooooliboooboooooobobooobooobOoobooboboooobOoobOoo
googd

Q=4707410000
P = 510510n + 470741
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2P 4+ 1 =2(510510n + 470741) + 1 = 10210201 + 941482 + 1 = 1021020n + 941483

0000010210200 20 2003,5,7,11,13,17000000 1000000

941483 = 41 x 22963 x 1

o000 10210200000000000000O0

2P 4+ 1 = 510510m + 430973

gboboobogobogoboboobboobooobooooboon

Q=470749000 0
P = 5105100 + 470749

2P + 1 = 2(510510n + 470749) 4+ 1 = 10210201 4 941498 + 1 = 10210201 + 941499
0000010210200 20 2003,5,7,11,13,17000000 10000000

941499 =3 x 3 x 13 x 13 x 619 x 1

oooo
2P 4 1 = 39(26180n + 24141)

goooooboOo3ooooooobobooboooboooooDobDooDOobDOoboooboOooboo
good

Q=470753 0000
P = 510510n + 470753

2P + 1 = 2(510510n + 470753) 4+ 1 = 10210201 4 941506 + 1 = 10210201 + 941507
0000010210200 20 2003,5,7,11,13,17000000 10000000

941507 =7 x 19 x 7079 x 1

oooo
2P + 1 = 7(145860n + 134501)

gOooooooOgvyoUooOoO0OOoO0OOo0OO0ODOO0DOO0O0DDOOO0DOOUODOODOOUODOOO
goo

Q=4707590000
P = 510510n + 470759

2P 4+ 1 =2(510510n + 470759) + 1 = 1021020n + 941518 + 1 = 1021020n + 941519

0000010210200 20 2003,5,7,11,13,17000000 1000000

941519 = 941519 x 1

294



0000 102102000000000000000

2P 4+ 1 = 510510m + 431009

gbobooobogobooboboobboobboooboooboon

Q=470761 0000
P = 510510n + 470761

2P + 1 = 2(510510n + 470761) 4+ 1 = 10210201 4 941522 + 1 = 10210201 + 941523
0000010210200 20 2003,5,7,11,13,17000000 10000000

941523 =3 x 11 x 103 x 277 x 1

0ooo
2P + 1 = 33(30940n + 28531)

go0odoOooboOo33boobooooob0obooboooooooDoOobDoobDobDOoboooboOooo
googo

Q=4707730000
P = 510510n + 470773

2P + 1 = 2(510510n + 470773) 4+ 1 = 10210201 + 941546 + 1 = 10210201 + 941547
0000010210200 20 2003,5,7,11,13,17000000 10000000

941547 = 3 x 313849 x 1

good
2P + 1 = 3(340340n + 313849)

g0obOobooo30bobobooooobobooDooboobobDobDobooobUoboobDoo
goo

Q=4707770000
P = 5105100 + 470777

2P + 1 =2(510510n 4 470777) + 1 = 1021020n + 941554 + 1 = 1021020n + 941555

0000010210200 20 2003,5,7,11,13,17000000 10000000

941555 = 5 x 188311 x 1

oooo
2P + 1 = 5(204204n + 188311)

gooooooOds0OUObOO0OO0OOObOOO0bOO0ODbDOU0ODOODOODbDOUODOODOUODOO
goo
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Q=4707790000
P = 510510n + 470779

2P 4+ 1 =2(510510n + 470779) + 1 = 10210201 + 941558 + 1 = 10210201 + 941559

0000010210200 20 2003,5,7,11,13,17000000 10000000

941559 = 3 x 313853 x 1

oooo
2P + 1 = 3(340340n + 313853)

go0oooooOo3o0boo0oo0ooU0ooU0bOoUDOOo0oDbDOoUbOOUDOoUobDOUDoOO
goo

Q=470783 0000
P = 510510n + 470783

2P 4+ 1 =2(510510n + 470783) + 1 = 10210201 + 941566 + 1 = 10210201 + 941567

0000010210200 20 2003,5,7,11,13,17000000 10000000

941567 = 11 x 85597 x 1

oooo
2P + 1 = 11(92820n + 85597)

gboobOoobOlnoooboboooO0oobOboOooObooo0bOo0oboobUobDUoOooDbOobobOoo
good

Q=470791 0000
P = 510510n + 470791

2P 4+ 1 =2(510510n + 470791) + 1 = 10210201 + 941582 + 1 = 10210201 + 941583

0000010210200 20 2003,5,7,11,13,17000000 10000000

941583 = 3 x 19 x 16519 x 1

oooo
2P + 1 = 3(340340n + 313861)

gooooooOo3o0boooooobooU0OoOoU0bOoUbDOoUobOoUobbOUDbDOoUobDboUODoOoO
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Q=470797 0000
P = 5105100 + 470797

2P 4+ 1 =2(510510n + 470797) + 1 = 10210201 + 941594 + 1 = 10210201 + 941595
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941595 =3 x 5 X 62773 x 1

oooo
2P + 1 = 15(68068n + 62773)

oboooooolboooooobooobbooobooobooboobobooooboOoobOoo
googd

Q=4708010000
P = 510510n + 470801

2P + 1 = 2(510510n + 470801) 4 1 = 10210201 + 941602 + 1 = 10210201 + 941603
0000010210200 20 2003,5,7,11,13,17000000 10000000

941603 = 13 x 72431 x 1

0ooo
2P + 1 = 13(78540n + 72431)

gooooobooyoobooOooobOobooooUoboUoooDOoDOoUoDOobDOobobooboOooboo
good

Q=4708030000
P = 510510n + 470803

2P 4+ 1 =2(510510n + 470803) + 1 = 10210201 + 941606 + 1 = 1021020n + 941607

0000010210200 20 2003,5,7,11,13,17000000 10000000

941607 = 3 x 3 x 104623 x 1

oooo
2P + 1 = 3(340340n + 313869)

ooobOoobooo3oboboboooooboboooOobobobooboDobooobOobDOooDoo
goo
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